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1. The smallest odd number of 6 digits is ____ .

(a) 123456 (b) 113579

(c) 34567 (d) 54688

2. Which one of the following Is the correct sequence in
respect to the Roman numerals C , D ,L and M ?

(a) C>D>L>M (b) M>L>D>C

(c) M>D>C>L (d) L>C>D>M

3. Make a list of 7 consecutive numbers ,nine of which
is prime .

(a) 90 to 96 (b) 31 to 37

(c) 5 to 12 (d) 43 to 50

4. Which of the following numbers is a perfect square ?

(a) 36 (b) 81

(c) 37 (d) both (a) and (b)

1. 6 vadksa dh lcls NksVh fo"ke la[;k ------------ gSA

(a) 123456 (b) 113579

(c) 34567 (d) 54688

2. jkseu vad C, D, L vkSj M ds lacaèk esa fuEufyf[kr esa ls dkSu lk
vuqØe lgh gS\

(a) C>D>L>M (b) M>L>D>C

(c) M>D>C>L (d) L>C>D>M

3. yxkrkj 7 la[;kvksa dh lwph cuk,a] ftuesa ls ukS vHkkT; gSaA

(a) 90 to 96 (b) 31 to 37

(c) 5 to 12 (d) 43 to 50

4. fuEufyf[kr esa ls dkSu lh la[;k iw.kZ oxZ gS\

(a) 36 (b) 81

(c) 37 (d) (a) vkSj (b) nksuksa

MATHS
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5. The least number of square tiles that will be needed
to pave a plot 225 m by 30 m is ____ .
(a) 30 miles (b) 15 miles
(c) 25 miles (d) 45 miles

6. Which one of the following is wrong ?

(a) 
5

12
 h = 25 min (b) 

19

20
 km = 950 m

(C) 
1

1
8

days = 27 hours (d) 
21

25
l =800 ml

7. If the HCF of the numerator and denominator of a
fraction is 1, then it is said to be in ___ Form or ____
terms.
(a) simplest, lowest (b) like, unlike
(c) proper, Improper (d) like, mixed

8. Which statement is correct ?
(a) The sum of a positive integer and a negative
Integer is always positive.
(b) The sum of a positive integer and a negative
Integer is never positive .
(c) The sum of three negative Integers is always
negative.
(d) The sum of three positive Integers is sometimes
negative.

9. |-5 |- |5| _____ -3 -7 ( < , > or = )
(a) > (b) <
(c) = (d) None of these

10. The value of -16 -(-9 ) is-
(a) -25 (b) -7
(c) 7 (d) -25

11. For 118 ÷ 63 , the estimated quotient is ____ .

(a) 2 (b) 3

(c) 4 (d) 5

5. 225 ehVj xq.kk 30 ehVj ds Iy‚V dks iôk djus ds fy, de
ls de oxkZdkj Vkbyksa dh vko';drk gksxh -------A
(a) 30 ehy (b) 15 ehy
(c) 25 ehy (d) 45 ehy

6. fuEufyf[kr esa ls dkSu lk xyr gS \

(a) 
5

12
 ?kaVs = 25 feuV (b) 

19

20
 fdeh = 950 ehVj

(C) 
1

1
8
fnu = 27 ?kaVs (d) 

21

25
l =800 feyh

7. ;fn fdlh fHkUu ds va'k vkSj gj dk HCF 1 gS] rks mls ------ :i
;k --------- inksa esa dgk tkrk gSA

(a) ljyre] fuEure (b) leku] vleku
(c) mfpr] vuqfpr (d) leku] fefJr

8. dkSu lk dFku lgh gS \
(a) ,d èkukRed iw.kk±d vkSj ,d _.kkRed iw.kk±d dk ;ksx
ges'kk èkukRed gksrk gSA
(b) ,d èkukRed iw.kk±d vkSj ,d _.kkRed iw.kk±d dk ;ksx
dHkh Hkh èkukRed ugÈ gksrk gSA
(c) rhu _.kkRed iw.kk±dksa dk ;ksx ges'kk _.kkRed gksrk gSA

(d) rhu èkukRed iw.kk±dksa dk ;ksx dHkh&dHkh _.kkRed gksrk
gSA

9. |-5 |- |5| _____ -3 -7 ( < , > or = )
(a) > (b) <
(c) = (d) buesa ls dksÃ ugÈ

10. -16 -(-9) dk eku gS&
(a) -25 (b) -7
(c) 7 (d) -25

11. 118 ÷ 63 ds fy,] vuqekfur HkkxQy --------------- gSA

(a) 2 (b) 3

(c) 4 (d) 5
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12. Wtite the smallest 3-digit number with different
digits

(a) 100 (b) 101

(c) 102 (d) 104

13. Division of a whole number by ___ is not defined.

(a) 0 (b) 1

(c) 2 (d) 2

14. 111 + 222 + 333 + 444 = 111 × 10 which of the following
property of whole numbers is used here ?

(a) closure property of addition

(b) Distributive property of Multiplication over
addition

(c) Associative property of addition

(d) commutative property of Multiplication over
addition

15. 50 , 40 , 43 ,33 , ___, 26, ____

(a)  36, 29 (b) 26, 36

(c) 34, 45 (d) 67, 75

16. A bottle contains 520 mL of mustered oil . The total
quantity of oil contained In 25 such bottle is _______.

(a) 20 bottles (b)13 bottles

(c) 15 bottles (d) 22 litres

17. Which of these makes a whole ?

(a) one half (b) two halves

(c) 3 halves (d) 5 halves

18. A bicycle covers a distance of 45 kilometers in 3 hours.
How far will it travel in 5 hours at the same speed ?

(a) 65 km (b) 75 km

(c) 85 km (d) 95 km

12. fofHkUu vadksa okyh lcls NksVh 3&vadh; la[;k fy[ksa

(a) 100 (b) 101

(c) 102 (d) 104

13. fdlh iw.kZ la[;k dks ---- ls Hkkx nsus dh fofèk ifjHkkf"kr ugÈ gSA

(a) 0 (b) 1

(c) 2 (d) 2

14. 111 + 222 + 333 + 444 = 111 × 10 ;gk¡ iw.kZ la[;kvksa ds
fuEufyf[kr esa ls fdl xq.k dk mi;ksx fd;k x;k gS\

(a) ;ksx dk can xq.k

(b) ;ksx ij xq.ku dk forj.k xq.k

(c) ;ksx dk lkgp;Z xq.k

(d) ;ksx ij xq.ku dk fofues; xq.k

15. 50 , 40 , 43 ,33 , ___, 26, ____

(a)  36, 29 (b) 26, 36

(c) 34, 45 (d) 67, 75

16. ,d cksry esa 520 mL ljlksa dk rsy gSA ,slh 25 cksryksa esa rsy
dh dqy ek=k --------------- gSA

(a) 20 cksrysa (b) 13 cksrysa

(c) 15 cksrysa (d) 22 yhVj

17. buesa ls dkSu ,d iw.kZ cukrk gS\

(a) ,d vkèkk (b) nks vkèks

(c) 3 vkèks (d) 5 vkèks

18. ,d lkbfdy 3 ?kaVs esa 45 fdyksehVj dh nwjh r; djrh gSA
mlh xfr ls 5 ?kaVs esa ;g fdruh nwjh r; djsxh\

(a) 65 fdeh (b) 75 fdeh

(c) 85 fdeh (d) 95 fdeh
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19. Kapil bought 5 cookies all of which having equal price.
If the total amount paid is rs.33 , what was the price
of one cookie ?

(a) Rs.5 (b) Rs. 5.50

(c) Rs.6.00 (d) Rs.6.60

20. HCF of two Co-prime numbers is _____.

(a) 1 (b) 0

(c) 2 (d) none of these

21. The reciprocal of smallest prime is ____ .

(a) 0 (b) ½

(c) 1 (d) 2

22. 1265 is divisible by

(a) 2 (b) 3

(c) 10 (d) 11

23. The integer 246 is exactly Divide by

(a) 8 (b) 6

(c) 9 (d) 7

24. The difference of the largest and the smallest 5- digit
numbers formed by the digits 6,0,9,5 when 0 repeated
twice Is :

(a) 46431 (b) 49250

(c) 39996 (d) 39600

25. Arrange the given words in descending order
according to their values.

1. Trillion 2. Thousand

3. Billion 4. Hundred

5. Million

(a) 1, 3, 4, 2, 5 (b) 4, 2, 5, 3, 1

(c) 1, 4, 3, 2, 5 (d) 1, 3, 5, 2, 4

19. dfiy us 5 dqdht+ [kjhnÈ] ftuesa ls lHkh dh dher cjkcj FkhA
;fn dqy Hkqxrku dh xÃ jkf'k 33 #i;s gS] rks ,d dqdh dh
dher D;k Fkh\

(a) 5 #i;s (b) 5-50 #i;s

(c) 6-00 #i;s (d) 6-60 #i;s

20. nks lg&vHkkT; la[;kvksa dk HCF ------------ gSA

(a) 1 (b) 0

(c) 2 (d)  buesa ls dksÃ ugÈ

21. lcls NksVs vHkkT; dk O;qRØe ------------- gSA

(a) 0 (b) ½

(c) 1 (d) 2

22. 1265 fdlls foHkkT; gS

(a) 2 (b) 3

(c) 10 (d) 11

23. iw.kk±d 246 fdlls iw.kZr% foHkkftr gS

(a) 8 (b) 6

(c) 9 (d) 7

24. 0 dks nks ckj nksgjkus ij vad 6]0]9]5 ls cuus okyh lcls cM+h
vkSj lcls NksVh 5 vadksa dh la[;kvksa dk varj gS%

(a) 46431 (b) 49250

(c) 39996 (d) 39600

25. fn, x, 'kCnksa dks muds eku ds vuqlkj vojksgh Øe esa
O;ofLFkr djsaA

1. Trillion 2. Thousand

3. Billion 4. Hundred

5. Million

(a) 1, 3, 4, 2, 5 (b) 4, 2, 5, 3, 1

(c) 1, 4, 3, 2, 5 (d) 1, 3, 5, 2, 4
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26. Deer eats only plant products and so,is called_____.

(a) Carnivorous animals (b) Herbivorous animals

(c)  Omnivorous animals (d) None of these

27. Which part of a mustard plant is edible ?

(a) Seeds and flowers (b) Leaves and flowers

(c) Seeds and leaves (d) Stem and roots

28. Which one of the following set comprises only
herbivorous animals ?

(a) Cow, goat, rabbit, deer

(b) Cow, goat, rabbit, wolf

(c) Wolf, goat, rabbit, deer

(d) Cow, crow, crane, camel

29. Where does honey come from ?

(a) Fruits (b) Flower

(c) Animal (d) All of these

30. A substance which is essential for maintaining life
and growth is called_____

(a) Nutrient (b) Starch

(c) Scurvy (d) Vitamin

31. What is the primary function of carbohydrates in our
body ?

(a) To provide energ

(b) To build muscles

(c) To protect against diseases

(d) To help in digestion

32. Which of the following is not a nutrient ?

(a) Carbohydrates (b) Fats

(c) Water (d) Vitamins

26. fgj.k dsoy ikSèkksa ds mRikn [kkrk gS vkSj blfy,] bls --------
dgk tkrk gSA

(a) ekalkgkjh tkuoj (b) 'kkdkgkjh tkuoj

(c) lokZgkjh tkuoj (d) buesa ls dksÃ ugÈ

27. ljlksa ds ikSèks dk dkSu lk Hkkx [kkus ;ksX; gS \

(a) cht vkSj Qwy (b) ifÙk;k¡ vkSj Qwy

(c) cht vkSj ifÙk;k¡ (d) ruk vkSj tM+sa

28. fuEufyf[kr esa ls fdl lewg esa dsoy 'kkdkgkjh tkuoj
'kkfey gSa \

(a) xk;] cdjh] [kjxks'k] fgj.k

(b) xk;] cdjh] [kjxks'k] HksfM+;k

(c) HksfM+;k] cdjh] [kjxks'k] fgj.k

(d) xk;] dkSvk] lkjl] Å¡V

29. 'kgn dgk¡ ls vkrk gS\

(a) Qy (b) Qwy

(c) tkuoj (d) ;s lHkh

30. thou vkSj fodkl dks cuk, j[kus ds fy, vko';d inkFkZ dks
---------- dgk tkrk gS

(a) iks"kd rRo (b) LVkpZ

(c) LdoÊ (d) foVkfeu

31. gekjs 'kjhj esa dkcksZgkbMªsV dk çkFkfed dk;Z D;k gS \

(a) ÅtkZ çnku djuk

(b) ekalisf'k;ksa dk fuekZ.k djuk

(c) chekfj;ksa ls cpkuk

(d) ikpu esa enn djuk

32. fuEufyf[kr esa ls dkSu iks"kd rRo ugÈ gS \

(a) dkcksZgkbMªsV (b) olk

(c) ikuh (d) foVkfeu

SCIENCE
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33. What are dietary fibers primarily needed for ?

(a) Energy (b) Muscle building

(c) Digestive health (d) Bone strength

34. Which of the following are the good sources of plant
proteins ?

(a) Nuts (b) fish

(c) Milk (d) Eggs

35. What can a prolonged deficiency of nutrients lead
to?

(a) Obesity (b) Deficiency diseases

(c) Overhydration (d) None of the above

36. The process of retting is done to obtain _____.

(a) Wool (b) Jute

(c) Cotton (d) Silk

37. Cotton, jute and coconut fibre are examples of ____ .

(a) Plant Fibres (b) Animal Fibres

(c) Natural Fibres (d) Synthetic Fibres

38. Separation of fibres of cotton from its seeds is known
as

(a) Weaving (b) Spinning

(c) Knitting (d) Ginning

39. Which of the following three processes are involved
in converting fibre into fabric ?

(a) Yarn   fibre   fabric

(b) Fibre   Yarn   fabric

(c) Both (a) and (b)

(d) None of the above

40. Which of the following is a matter?

(a) Air (b) Steel

(c) Water (d) All of these

33. vkgkj Qkbcj eq[; :i ls fdlds fy, vko';d gSa \

(a) ÅtkZ (b) ekalisf'k;ksa dk fuekZ.k

(c) ikpu LokLF; (d) gfì;ksa dh etcwrh

34. fuEufyf[kr esa ls dkSu ikSèks çksVhu ds vPNs lzksr gSa \

(a) esos (b) eNyh

(c) nwèk (d) vaMs

35. iks"kd rRoksa dh yacs le; rd deh ls D;k gks ldrk gS\

(a) eksVkik (b) deh ls gksus okyh chekfj;k¡

(c) vfrty;kstu (d) mijksä esa ls dksÃ ugÈ

36. fjÇVx dh çfØ;k ----------- çkIr djus ds fy, dh tkrh gSA

(a) Åu (b) twV

(c) dikl (d) js'ke

37. dikl] twV vkSj ukfj;y ds js'ks ------------- ds mnkgj.k gSaA

(a) ikni js'ks (b) i'kq js'ks

(c) çk—frd js'ks (d) ÇlFksfVd js'ks

38. dikl ds js'kksa dks mlds chtksa ls vyx djus dks D;k dgrs
gSa

(a) cqukÃ (b) drkÃ

(c) cqukÃ (d) vksVuk

39. js'ks dks diM+s esa cnyus esa fuEufyf[kr esa ls dkSu lh rhu
çfØ;k,¡ 'kkfey gSa \

(a) ;kuZ Qkbcj QSfczd

(b) Qkbcj ;kuZ QSfczd

(c) (a) vkSj (b) nksuksa

(d) mijksä esa ls dksÃ ugÈ

40. fuEufyf[kr esa ls dkSu lk inkFkZ gS\

(a) ok;q (b) LVhy

(c) ty (d) ;s lHkh
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41. dkSu lk inkFkZ ty esa ?kqyu'khy gS \

(a) jsr (b) ued

(c) pkd (d) pwjk

42. fuEufyf[kr esa ls fdldk vkdkj fuf'pr gS \

(a) yksgk (b) v‚Dlhtu

(c) nwèk (d) dkcZu Mkbv‚DlkbM

43. yksgk] rkack vkSj ,Y;qehfu;e tSlh èkkrqvksa esa rkt+k dVus ij
D;k xq.k gksrs gSa \

(a) dBksjrk (b) ped

(c) ?kqyu'khyrk (d) vikjnÆ'krk

44. feJ.kksa dks vyx djus dh vko';drk gksrh gS D;ksafd -------

(a) vokaNuh; inkFkks± dks gVkus ds fy,

(b) okaNuh; inkFkZ çkIr djus ds fy,

(c) vR;fèkd 'kq) inkFkZ çkIr djus ds fy,

(d) ;s lHkh

45. ,d Bksl dks ty esa ?kksyk tkrk gSA bls vyx djus ds fy,
fuEufyf[kr esa ls fdl fofèk dk mi;ksx fd;k tk ldrk gS\

(a) fuLianu (b) fuLrkj

(c) vklou (d) ok"ihdj.k

46. tc okafNr vkSj vokaNuh; ?kVd ds vkdkj vkSj jax esa varj
gksrk gS] rks fuEufyf[kr esa ls fdl fofèk dk mi;ksx fd;k
tkrk gS \

(a) gkFk ls pquuk (b) FkzsÇlx

(c) fuLianu (d) fuLrkj

47. ftl rkieku ij dksÃ Bksl fi?kyuk 'kq: gksrk gS] mls mldk
---------- dgrs gSaA

(a) xyukad (b) DoFkukad

(c) fgekad (d) èkhek ifjorZu

41. Which material is soluble in water?

(a) Sand (b) Salt

(c) Chalk (d) Sawdust

42. Which of the following has a fixed shape ?

(a) Iron (b) Oxygen

(c) Milk (d) Carbon dioxide

43. What property do metals like iron, copper, and
aluminum share when freshly cut ?

(a) Hardness (b) Lustre

(c) Solubility (d) Opacity

44. Mixtures need to be separated because_______.

(a) to remove undesirable substances

(b) to get desirable substances

(c) to obtain highly pure substance

(d) all of these

45. A solid is dissolved in water.Which one of the
following method can be used to  separate it ?

(a) Filtration (b) Decantation

(c) Distillation (d) Evaporation

46. Which of the following method is used when there is
a difference in size and colour of desirable and
undesirable constituent ?

(a) Hand-picking (b) Threshing

(c) Filtration (d) Decantation

47. Temperature at which a solid starts melting is called
its_____.

(a) Melting point (b) Boiling point

(c) Freezing point (d) Slow change
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48. Which of the following changes cannot be reversed ?

(a) Milk to paneer

(b) Cold milk to hot milk

(c) Yarn to knitting sweater

(d) Wet clothes to dry clothes

49. Which type of change is beating of heart ?

(a) Slow change (b) Fast change

(c) Chemical change (d) None of these

50. What are the substances formed in a reaction called?

(a) Reactants

(b) Products

(c) Sometimes products and sometimes reactants

(d) None of these

48. fuEufyf[kr esa ls dkSu lk ifjorZu myVk ugÈ fd;k tk
ldrk gS\

(a) nwèk ls iuhj

(b) BaMs nwèk ls xeZ nwèk

(c) lwr ls LosVj cquuk

(d) xhys diM+s ls lw[ks diM+s

49. ân; dh èkM+du fdl çdkj dk ifjorZu gS \

(a) èkhek ifjorZu (b) rst+ ifjorZu

(c) jklk;fud ifjorZu (d) buesa ls dksÃ ugÈ

50. fdlh vfHkfØ;k esa cuus okys inkFkks± dks D;k dgrs gSa\

(a) vfHkdkjd (b) mRikn

(c) dHkh&dHkh mRikn vkSj dHkh&dHkh vfHkdkjd

(d) buesa ls dksÃ ugÈ
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SOCIAL SCIENCE
Tick the correct option :

51. Who were hunter -gathere  ?

(a) people engaged in hunting

(b) people engaged in hunting and food gathering.

(c) people engaged in animal rearing

(d) people engaged in farming

52. Which of the following items have been explored by
archaeologist ?

(a) tools (b) coins

(c) ornaments (d) all of these

53. _______ developed around 12000 years ago.

(a) mountains (b) desert

(c) grassland (d) all of these

54. ______ were the earliest food grain cultivated by man

(a) rice and wheat (b) wheat and Barley

(c) rice and Barley (d) none of these

55. Who  was scribes ?

(a) craft person (b) ruler

(c) traders (d) people who knew to write

56. What we found in mohenjo daro

(a) great mountain

(b) the great bath

(c) A large  swimming pool

(d) none of these

57. 'The Rigveda' written  in _______

(a) Vedic Sanskrit (b) Vedic Hindi

(c) Vedic Tamil (d) none of these

51. f'kdkjh&laxzkgd dkSu Fks \

(a) f'kdkj esa yxs yksx

(b) f'kdkj vkSj Hkkstu laxzg esa yxs yksxA

(c) i'kqikyu esa yxs yksx

(d) [ksrh esa yxs yksx

52. iqjkrRofonksa us fuEufyf[kr esa ls fdl oLrq dh [kkst dh gS\

(a) vkStkj (b) flôs

(c) vkHkw"k.k (d) ;s lHkh

53. --------------- yxHkx 12000 lky igys fodflr gqvkA

(a) igkM+ (b) jsfxLrku

(c) ?kkl dk eSnku (d) ;s lHkh

54. -------- euq"; }kjk mxk, tkus okys lcls 'kq#vkrh [kk|kUu Fks

(a) pkoy vkSj xsgw¡ (b) xsgw¡ vkSj tkS

(c) pkoy vkSj tkS (d) buesa ls dksÃ ugÈ

55. 'kkL=h dkSu Fks \

(a) f'kYidkj (b) 'kkld

(c) O;kikjh (d) os yksx tks fy[kuk tkurs Fks

56. eksgutksnM+ks esa gesa D;k feyk

(a) egku ioZr

(b) egku Lukukxkj

(c) ,d cM+k fLoÇex iwy

(d) buesa ls dksÃ ugÈ

57. *_Xosn* ----------- esa fy[kk x;k gS

(a) oSfnd laL—r (b) oSfnd Çgnh

(c) oSfnd rfey (d) buesa ls dksÃ ugÈ
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58. Which of the following is the oldest Veda ?

(a) samaveda (b) yajurveda

(c) rigveda (d) atharvaveda

59. The group of seven star is called

(a) the saptarishi (b) the moon

(c) the sun (d) the Mars

60. What is the shape of the earth

(a) geoid (b) circle

(c) both (a) and (b) (d) none of these

61. The science of studying planets and other heavenly
bodies is known as

(a) astronomy (b) study of stars

(c) geometry (d) geography

62. The Antarctic circle is located in the

(a) Western hemisphere

(b) Southern hemisphere

(c) Eastern hemisphere

(d) Northern hemisphere

63. What is the latitudinal value of tropic of Capricorn ?

(a) 82  1/2° E (b) 30 1/2° W

(c) 23 1/2° S (d) 72 1/2°S

64. IST  stand for

(a) internal specific time

(b) internal standard temperature

(c) Indian standard time

(d) Indian specific time

65. Which book was  written by pandit Jawaharlal Nehru?

(a) discovery of India (b) young India

(c) story of freedom fighters (d) none of these

58. fuEufyf[kr esa ls dkSu lcls iqjkuk osn gS \

(a) lkeosn (b) ;tqosZn

(c) _Xosn (d) vFkoZosn

59. lkr rkjksa ds lewg dks dgk tkrk gS

(a) lIr_f"k (b) paæek

(c) lw;Z (d) eaxy

60. i`Foh dk vkdkj dSlk gS

(a) Hkwvk—fr (b) oÙ̀k

(c) (a) vkSj (b) nksuksa (d) buesa ls dksÃ ugÈ

61. xzgksa vkSj vU; [kxksyh; ÇiMksa ds vè;;u ds foKku dks dgk
tkrk gS

(a) [kxksy foKku (b) rkjksa dk vè;;u

(c) T;kfefr (d) Hkwxksy

62. vaVkdZfVd oÙ̀k dgk¡ fLFkr gS

(a) if'peh xksykèkZ

(b) nf{k.kh xksykèkZ

(c) iwoÊ xksykèkZ

(d) mÙkjh xksykèkZ

63. edj js[kk dk v{kka'kh; eku D;k gS\

(a) 82  1/2° E (b) 30 1/2° W

(c) 23 1/2° S (d) 72 1/2°S

64. IST dk eryc gS

(a) vkarfjd fof'k"V le;

(b) vkarfjd ekud rkieku

(c) Hkkjrh; ekud le;

(d) Hkkjrh; fof'k"V le;

65. iafMr tokgjyky usg: us dkSu lh iqLrd fy[kh Fkh \

(a) fMLdojh v‚Q bafM;k (b) ;ax bafM;k

(c) Lora=rk lsukfu;ksa dh dgkuh (d) buesa ls dksÃ ugÈ
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66. The main principles of Buddhism are

(a) right speech (b) right action

(c) right choice (d) both (a) and (b)

67. What are the things that make people prejudice ?

(a) religious belief

(b) their colour and dresses

(c) their language festival and food

(d) all of the above

68. What is the main reason behind Muslim girls not
attending school ?

(a) early marriage

(b) poverty

(c) custom and tradition

(d) discrimination

69. Indian National song  was composed by

(a) Rabindranath Tagore

(b) Jawaharlal Nehru

(c) bankim Chandra Chatterjee

(d) Subhash Chandra Bose

70. ln UK woman got the right to vote in ___

(a) 1919 (b) 1920

(c) 1921 (d) 1928

66. ckS) èkeZ ds eq[; fl)kar gSa

(a) lgh Hkk"k.k (b) lgh dk;Z

(c) lgh fodYi (d) (a) vkSj (b) nksuksa

67. ,slh dkSu lh phtsa gSa tks yksxksa dks iwokZxzgh cukrh gSa \

(a) èkkÆed foÜokl

(b) mudk jax vkSj igukok

(c) mudh Hkk"kk R;ksgkj vkSj Hkkstu

(d) mijksä lHkh

68. eqfLye yM+fd;ksa ds Ldwy u tkus ds ihNs eq[; dkj.k D;k gS\

(a) de mez esa 'kknh

(b) xjhch

(c) jhfr&fjokt vkSj ijaijk

(d) HksnHkko

69. Hkkjrh; jk"Vªh; xhr dh jpuk fdlus dh Fkh

(a) joÈæukFk VSxksj

(b) tokgjyky usg:

(c) cafde paæ pVtÊ

(d) lqHkk"k paæ cksl

70. fczVsu dh ,d efgyk dks ------------- esa oksV nsus dk vfèkdkj feyk

(a) 1919 (b) 1920

(c) 1921 (d) 1928
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ENGLISH
A. Choose the correct option:

71. Which sentence uses a regular verb ?

(a) He ran quickly to catch the bus.

(b) She has eaten lunch already.

(c) They sang beautifully last night.

(d) He went to the store yesterday.

72. The verb "to be" is an example of a/an:

(a) Regular verb (b) Irregular verb

(c) Transitive verb (d) Modal verb

73. "More beautiful" is an example of a/an:

(a) Positive adjective

(b) Comparative adjective

(c) Superlative adjective

(d) Demonstrative adjective

74. Which of the following is an example of a countable
noun?

(a) Water (b) Happiness

(c) Book (d) Love

75. She has been working hard." In this sentence, "has
been" is a/an:

(a) Auxiliary verb (b) Main verb

(c) Modal verb (d) Phrasal verb

76. Which of these is a possessive determiner ?

(a) Its (b) My

(c) Some (d) This

77. An" is used before which type of word ?

(a) Singular countable nouns starting with a vowel
sound

(b) Plural countable nouns starting with a consonant
sound

(c) Singular uncountable nouns starting with a
consonant sound

(d) Uncountable nouns starting with a vowel sound

78. And", "but", and "or" are examples of:

(a) Subordinating conjunctions

(b) Coordinating conjunctions

(c) Correlative conjunctions

(d) Relative pronouns

79. What is the correct order of adjectives in English?

(a) Opinion, size, age, shape, color, origin, material,
purpose

(b) Size, opinion, age, shape, color, origin, material,
purpose

(c) Age, size, opinion, shape, color, origin, material,
purpose

(d) Color, size, opinion, age, shape, origin, material,
purpose

80. Which of the following is a preposition?

(a) Run (b) With

(c) Beautiful (d) Quickly
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81. Which sentence uses a subordinating conjunction?

(a) He is tall and strong.

(b) I will go if you come.

(c) She likes both cats and dogs.

(d) They went to the park because it was sunny.

82. Identify the preposition in the sentence: "He walked
through the park."

(a) He (b) Walked

(c) Through (d) Park

83. Which preposition is used to indicate time in the
future?

(a) At (b) In

(c) On (d) For

84. The verb "to be" is an example of a/an:

(a) Regular verb (b) Irregular verb

(c) Transitive verb (d) Modal verb

85. Identify the object pronoun in the sentence: "She
gave him a present."

(a) She (b) Gave

(c) Him (d) Present

86. Identify the adverb in the sentence: "She sings
loudly."

(a) She (b) Sings

(c) Loudly (d) Sings loudly

87. What part of speech connects words, phrases, or
clauses in a sentence?

(a) Noun (b) Pronoun

(c) Verb (d) Conjunction

88. Which word is a demonstrative determiner?

(a) Some (b) Each

(c) This (d) Both

89. Which of the following is a subject pronoun?

(a) Mine (b) Their

(c) He (d) Its

90. Which adverb correctly completes the sentence: "She
sings ___ than anyone else in the choir."

(a) Good (b) Well

(c) Better (d) Best
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MAT
91. 4, 8, 14 ,22 , ?

(a) 24 (bl 34

(c) 32 (d) 40

92. 0, 7, 26, 63,  ?

(a) 124 (b) 125

(c) 120 (d) 78

93. A, D,  I,  P,  ?

(a) Y (b) K

(c) T (d) Z

94. A, Z ,Y B ,C , X , W , ?

(a) H (b) R

(c) T (d) D

95. Arrange these words in alphabetical order ......

1. Aware 2. Award

3. Allow 4. Answer

(a) 1,2,3,4 (b) 3,4,2,1

(c) 4,3,2,1 (d) 3,4,2,1

96. If arrange these words in alphabetical order, which is

comes at second last place ........

1. Burrow 2. Brown

3. Bellow 4. Beautiful

(a) Beautiful (b) Bellow

(c) Brown (d) Burrow

91. 4, 8, 14 ,22 , ?

(a) 24 (bl 34

(c) 32 (d) 40

92. 0, 7, 26, 63,  ?

(a) 124 (b) 125

(c) 120 (d) 78

93. A, D,  I,  P,  ?

(a) Y (b) K

(c) T (d) Z

94. A, Z ,Y B ,C , X , W , ?

(a) H (b) R

(c) T (d) D

95. bu 'kCnksa dks o.kkZuqØe esa O;ofLFkr djsa ------

1. Aware 2. Award

3. Allow 4. Answer

(a) 1,2,3,4 (b) 3,4,2,1

(c) 4,3,2,1 (d) 3,4,2,1

96. ;fn bu 'kCnksa dks o.kkZuqØe esa O;ofLFkr fd;k tk,] rks dkSu

lk LFkku vkrk gS nwljk vafre LFkku --------

1. Burrow 2. Brown

3. Bellow 4. Beautiful

(a) Beautiful (b) Bellow

(c) Brown (d) Burrow
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97. If 'plus ' mean 'subtraction', 'subtraction' means

'multiple '' multiple ' means 'devide' devide' means

'plus '

48 × 4 - 41 ÷ 7 + 8

(a) 230 (b) 490

(c) 491 (d) None of these

98. If '+' means '× ', '×'. means '÷'  '÷'  means. '-'  ' -' means

'+'

4 ÷ 8 - 8 * 2 + 2

(a) 5 (b) 6

(c) 4 (d) 8

99. If P denotes 'devide', Q 'multiple' R denotes 'plus and

S denotes '-' then what is the value of

18 Q 12 P 4 R 5 S 6 = ?

(a) 53 (b) 59

(c) 63 (d) 65

100. 3, 15, 35, 63, 99 , ?

(a) 111 (b) 143

(c) 142 (d) 153

97. ;fn *tksM+* dk vFkZ *?kVkuk* gS] *?kVkuk* dk vFkZ *xq.kk* gS]

*xq.kk* dk vFkZ *Hkkx* gS *Hkkx* dk vFkZ *tksM+* gS

48 × 4 - 41 ÷ 7 + 8

(a) 230 (b) 490

(c) 491 (d) buesa ls dksÃ ugÈ

98- ;fn '+' dk vFkZ '× ', '×'. dk vFkZ '÷'  '÷'  dk vFkZ '-'  ' -' dk vFkZ

'+' gS

4 ÷ 8 - 8 × 2 + 2

(a) 5 (b) 6

(c) 4 (d) 8

99. ;fn P dk vFkZ *Hkkx* gS] Q dk vFkZ *xq.kk* gS] R dk vFkZ *tksM+*

gS vkSj S dk vFkZ *?kVkuk* gS rks dk eku D;k gS

18 Q 12 P 4 R 5 S 6 = ?

(a) 53 (b) 59

(c) 63 (d) 65

100. 3, 15, 35, 63, 99 , ?

(a) 111 (b) 143

(c) 142 (d) 153


